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Their testimony is divided — T P

OVERVIEW

According to X"2w? both w"2 and 7"1 agree that if two sets of 2”7V offer
contradictory testimony; one set claimed that he borrowed a 711 and the other
claimed he borrowed 2°nxn, the rule is NP JMTY since 7 DPNRA Y92 Wo.
However if in one set of 0°7y, one 7¥ said 11» and the other said o»’nX», then ¥'"2
maintains JM7Y 7P%M1 and it is not valid (and "2 maintains it is Valid).l n’/oIN
explains the difference according to w"2 between one 0°7¥ N2 and two 27y "N2.

mooIn asks:
— My ‘npbm NNN N2 999N INIY N%Y 9UN Ja PNNY 129 HYPN

The X''21 has a difficulty; according to @''2 who maintain that by one set of

o>7v (where one 7V says 7111 and the other °nXn), their testimony is divided -
— Y1171y S0an 33 031 9593 723 *19raN) Znwnom M1y 1nY s2sunT

For v"21 considers them as contradictory witnesses, so even by two sets of 2°7y

their testimony should be nullified -
— SAN) 17 1999K SY1A 1Y DIDD IN 2997 1A TN NI 90T

For it is similar to a case where one of the witnesses turns out to be a relative
or unfit to testify, where the rule is that their testimony is voided, even if there

were a hundred witnesses, but one 91091 217 nullifies the entire testimony -
— (3,7 97 TYNT NP P92 MMINT

As the m1wn states in the first P2 of n1s» noon.

" The logic of w"2 is that the testimony of the 0*7v is precise; the X"y who says 73 means 732 and not 2»nX», the X"y
who says 0°°nXn means 0>nX» and not 7734. Therefore one of these 07V is a liar and is completely disqualified. There
remains only one 7¥ (let us assume the 7¥ of ;7111). One 7V is not believed to be 1vn X>¥ . [71"2 however maintains that
the 0’7y are not precise and 711n does not exclude a»nXn and 0»nR» does not exclude 71n, therefore they can be
combined for a 7131.] When there are two 0°7¥ *n3, however, then even though one 2°7v n3 is lying and 109, there still
remains another N> (let us again assume the n> of 711) which is w2, therefore there is a debt of at least a 7.
* One of the 07y is a liar.
? Others amend this to read 1°5x (instead of 12°5x1).
* mooIn does not ask that it should be 902 since it is 18T 2w nanT 2*7v N3 "1 where the entire N7y of both NN is
void. That would be in a case where (for instance) one N> claims he owes money and the other n> claims he does not
owe, then since we do not know which n> is telling the truth, we nullify both mn>. However, here no matter which
n> is lying there still is a debt of (at least) a 7712 in any event. Therefore mMa01N question is based on W 217P 177 'R R¥M1
9109. See following footnote # 5 & 6.
> We do not say, ignore the 7109 W 217p, there are other o w> 0*7y, but rather since they all came to testify, one 9109
invalidates all the o> w>.
% Similarly here too, there are four o*7¥ (two 2°7¥ °n3), one N3 is certainly lying (according to w"2) and therefore 109
m7Y2; how can we accept the M7y of the other N> when part of the m17y (of four) are o°7109!
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Mo0IN answers:
— 199 N30 YD) 5390 INIPY 1227 9199195 199817 NN XIYD INDT PNYS 1329 99IN)

And the >''1 answers that it is not a refutation, for we can say that @''2 agrees
with 5019 ' -

- 7‘1N\’J:l MTYN 0PN MM 23°72 DAN MW 272 DYININ D937 NN DN 9INY
Who maintains there (in n122); when does this rule apply (that X 2179 772 'K X¥n1
72°02 1MTY 7109) only by capital cases, however by monetary cases even if Xyni
09 R 2P 197 'X) the testimony is valid, for we say, let the testimony be

established by the remaining witnesses who are not 22177 or 0°7109 -
— 595515 103 29 PYDAT NNIYH 391

And this is the law for 1" ruled like "1 that by mavn °°7 we say “xwa m7vi o>°pnn.
— M53m9105 INNT 199 99999 381 °NINT 9291 381 1) Tra9Y 1959N)

And even according to °29 we can also say, that here we are discussing a case

where they came to see but not to testify -
— 99913 31 YNHIONY INN 1729N)

And even if they came to testify, we can differentiate that when do we say that

72702 17V 9109 R 217P 170 'K X¥n3, only -
— 503 1MTY 909 IN 2197 17 TN KM AANRT XD STTAN 999501 29

When they are assisting each other, then we say n1T¥ 2105 IR 219 377 'R Nx22

STowa -
+NY Py77aN YWNa’ NPT NI YAN

However here were they contradict each other, we do not say w 217p 771 'R Xx21
7702 1TV 208,

SUMMARY
The "2 who agree that by 0>7¥ °n> "1 there is a debt of a 712 (even though that by

! Similarly here even though one n> is 2109, nevertheless the other n3 is 73, so there is a 7w n> which claims that
there is a debt of (at least) a 71n.
8 In our texts in X,) N19» 'on it states *213 71997 1M "X (not like *"A). Others therefore amend the text here to read,
M7 ¥ NN 1M1 27 POIT M1 2277 177D
? 937 maintains there (R,7) that even by mamn °27 the rule is 72°02 1MTY 7100 W 217P 177 'R R¥ML.
19 The n"21 N3 amends this to read *™n X717 (deleting the word *xn).
" mooIn means that both 0*7y *n> were not appointed witnesses for the transaction; they merely happened to be
there. The rule of 772 1N7Y 7109 W 2P 171 'R R¥M1 is only if they observed as witnesses [and at that point one of
them was a 2109 R 21p, but] not if they were merely there as onlookers. Therefore even though they are now coming
to 71 to testify, there is no 2105 of 2109 W 217p 171 'K R¥MI, since when they saw it, it was not as witnesses.
'2 When the witnesses are all in agreement with each other, their testimony is like one, therefore we say that if a part
of that testimony is void (because one 7V is a 7109 R 211p), everything is voided. See ‘Thinking it over’.
"> We cannot consider these two 27y °n3 testifying, as one 2°7y n3, since they contradict each other, therefore the
2109 of one N has no effect on the other n>.
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'R N2 it is an NWR2M M7Y), is because they agree with °01 M that there is no 7 of
210D WX 21 171 'R X¥11 by mavan 2107 or alternately even if there is, nevertheless it is
7w> M7V because either they were merely onlookers or (even if they were
appointed witnesses, nevertheless) since they contradict each other, the rule of X¥n2
2309 WX 217p 171 'R does not apply.

THINKING IT OVER

Why is the 7 of 2109 W 2177 171 'R X¥n1 applicable only if they came to testify but
not if they were merely onlookers?'* Similarly, why does it not apply" if they are
contradicting each other?'®

14 See footnote # 11.
15 See footnote # 12.
16 See n"m1 and 3 MR 7"210.
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